	Вариант 1
	Вариант 2

	У = 2х3
	У = 3х2

	У = ¼ х4 + 2х2 – 7
	У = ½ х4 + 4х + 5

	У = х3 +4х2 – 3х.

Решить уравнение у( = 0
	У = 2х3 – 9х2 + 12х + 7.

Решить уравнение у( = 0.

	У = (х + 5)(х – 2)
	У = (х – 5)(х + 2)

	У = (3+5х)/(1–3х)
	У = (1+2х)/(3-5х)

	У = х3 – 6х2 – 63х.

Решить неравенство у( ( 0.
	У = х3 – 5х2 + 3х.

Решить неравенство у( ( 0.

	F(x) = (2x + 3)12.

Найти  f ((-2).
	F(x) = (5 + 6x)10.

Найти  f ((-1).

	У = sin 2x – cos 3x.
	У = cos 2x – sin 3x.

	У = tg x – ctg(x + (/4).
	У = ctg x + tg(x - (/4).

	У = sin2x.
	У= cos2x.

	Варианты ответов.

	1
	2
	3
	4

	6x2
	6x
	6
	6x3

	2x3+4
	X3+4x
	2x3+4
	2x3+4x

	-3; 1/3
	-1/3; 3
	1; 2
	-1; 2

	3x+2
	2x+3
	2x-3
	3x-2

	14/(1-3x)2
	-14/(1-3x)2
	-11/(3-5x)2
	11/(3-5x)2

	(-1/3;  3)
	(-3;  7)
	(1/3;  3)
	(3;  7)

	-52
	-60
	30
	-24

	сos 2x-sin 3x
	2sin 3x-3cos 3x
	-2sin 2x-3cos 3x
	2cos 2x+3sin 3x

	1/cos2(x-(/4)+1/sin2x
	1/cos2x+1/sin2(x+(/4)
	1/cos2x-1/sin2(x-(/4)
	1/cos2(x-(/4)-1/sin2x

	2sin x cos x
	-sin 2x
	Sin 2x
	2cos x


